


















No#caso#de#declíneo#β
+
,#o#positrão#interactua#com#os#electrões#atómicos#do#meio,#

perdendo#gradualmente#a#sua#energia#em#milhares#de#interacções#sucessivas#(>#10
7
).##

Quando#aDnge#a#energia#Epica#dos#electrões#atómicos#(~#20H40#keV),#captura#um#e
H
,#

formando#um#positronium.#

O#positronium,#sistema#ligado##e
+
#e
H
,#é#criado#num#estado#excitado.#Como#é#instável#

dãoHse#transições#até#se#aDngir#o#estado#de#energia#mínima#(~#eV),#durante#o#seu#

tempo#de#vida#(T
m
#~#1#ps).###

É#só#nesta#situação#limite#(de#“repouso“)#que#se#dá#a#aniquilação:#
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